stress test

o

Oa T (ab?)? + (=20)* & H2A A4t AS &2 | 4. o5 T &4 92 A2

2

D (v+2)?2=a2+4z+4
A (ab?)? + (~2b)? = a?b* + 4b? =
(aa2b4)_2 (a2b% ¢ @ (z—-3)2=22-62+9
;l2 42 . 1 @ (r—1)2=a2-22-1
b*)* = (—2b)* = ab =
© (ab®)? + (—2b) ao™ X (—20)2 ) ) )
y 1 ab® @ (z+2y)? =2 +4doy+4y
ab* X — = —
4bh2 4
_ 2 _ 2 2
© (ab?)? = (—2b)% = a2b* = (—2b2) = © (o= by) =a" 100y + 2y
—2a%b42 = —242p?
) 212 . 2 274 1 a?

5. (a2} x a3 + (ab®)? & 7hehe] Bhw?

@ a6b10 @ a7b8 @ a10b16

@ o't ® a'b®

18ab? + 3a®b + 4a3b® x 2a°b® & 7rs] shofz},

pll ]

6. os T &2 AS 12d)

® 52 x 5% = 25° @ (3°)° =27
2 2 2 ® (-2)' = -2 @ (22)° = 62°
62’y — 8xy®  bay — Yy o 7Vs] 51H9 , .
2xy 3y ©® (235)* =2
® 3z —2 @ z—y @ z—Ty

7. 122y + 423y x 3zy & 7+Hs5] SFH?

32 92 3
@ % @ Y 3 =
@ — ® —

T 2




8. 3x(x—5)+4z(1 —3z) =az® + br +c & I, abc 9
W27
@0 @ -1 ® —20
@ 99 ® —99

9. 42-3y+2=5r—6y+3¥¢ W, 22 -9y +55 y°l
Tt Ao 2 epfH?

® -3y+3 @ —Tr—4 ® -3y-3

@ Tx—4 ® Tr+4

14. 4= a,b ol W3t 3z — 5y — {y — 2(2x + 3y)}
ax +by € o, a +b 9 3 Fotoi=t

15. [ [ oto] Eolzt 714 7hehgt A& stojet,
z+4dy—{20 - By—0O+y)+y} =5z — 3z +2y)




16.

17

Els g

+2m WE 59, A2E 3m T £ o, 3Fth
wole?

@ (22 -9)m? @ (22 —2—6)m?

® (2242 —6)m?

® (22 + 6z +9)m?

" k=] o)t (3’)) =2l delzt (2?)

71g0] Yol g Fatoat,

@® —22-3x—-5

2

@ —222+3zx—5

® 322 -3z+5 @ 22°> —5x+5
® 222 -3x+5
g A2 AAlse W, 1 2Bt o144

-

o

20. 622 -9z

21.

22.

24.

_ 2 —8x+5
2 3
o gk oY

=ar?+bz+coMa+c

o2 Ao A 364 & 2 2 dlo] FA
AAroEH?
364 x 366 — 728 — 363 x 365

342 ol8sto]

D1 @ 2 ® 3 @ 4 G 5
322? B

z _ 4 Ql 10 151 H

9 4E]IH734‘,L,+3I'(2|%1\E':IL]—L_?

2 2 1 5 9
©; @z 06 ©5 063
o ARt 5 &2 A2
® a® xa? =d" @ (—a*)? =ab
® o®+a®=a' @ (3zy?)? = 622y*

b\? »?
(=) -=
3* 2571y
gorry = 2T gz = 625 @ W, 647 x 6257 ©] A
o] & oY
@ 10 #2] @ 12242 ® 17 2]
@ 20 7t2] ® 26 22




25. x=a(a+5 L™, (a—1)(a+2)(a+3)(a+6)=x
of Tt 4]0 2 LtERAH?
@ 2*-36 @ 2* -6
® 2?2 +6 @ 22+ 36

® 22 -122+ 36




